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01 Al&HI 4,250,000 2,080,000 2,170,000
OAEHI L=y 4,250,000
o O Xl TH &FE XI 01 2 B
2,300,000,000& = 14l 2,300,000
cARYUBHE B 550,000,000& = 14 550,000
CEYUES FOMEH XM
1,000,000,000& * 14 1,000,000
o2 EX0HEY  400,000,000& * 14 400,000
Matzte] 293l 3,000 3,000 0
202 (4 H| 3,000 3,000 0
01 =Wl 3,000 3,000 0
ool 3,000
oMatZe| R =& 4l 3,000,0008 * 14 3,000
C=EAM BUE 2,000,000 0 2,000,000
M AE Y BF 2,000,000 0 2,000,000
401 A &HIL 2048 2,000,000 0 2,000,000
01 Al&HI 1,920,000 0 1,920,000
Qu2s =gIdH &= 1,420,000,000& = 14l 1,420,000
O&s3s F0HH == 200,000,000& * 14 200,000
Ox4s F=QHMEH == 300,000,000& * 14 300,000
02 2eldl 40,000 0 40,000




0z N>
J2

Al M- H® . C9(3H) - MISAY - BYS Ao dE = SmE=L
0fl &t 01
Ou2s FLUHME A= 22|
40,000,000& = 14 40,000
03 AlAS0HYI 40,000 0 40,000
OmE FUME A= 20Ht]
40,000,000& = 14 40,000
=49 2,182,076 1,696,557 485,519
AlE 2Zel 1,894,076 1,651,557 242,519
ol | 20,000 20,000 0
JI2ZtHZ22NsSE S 20,000 20,000 0
OJI2ZtMZ2sEx 20,000
o ALEH 22| 20,000,000 * 14 20,000
UE2 A H 1,415,924 1,444,205 N28,281
AFR2 22l H] 120,450 198,731 NT8,281
Oget=2H| 110,440
oFHAEE Y AN 31,719,000& ~ 1A 31,719
oHAISLEAE (D . He=X) A2
5,000,000& = 14! 5,000
oHANETXE HAZ
15,0002 * 400m x 13| 6,000
ocHAMNAEE 50 * 36,200M * 63| 10,860
CHMAYANY BALLE
9,334,000& * 13 9,334
CHAMNSLINEIZBA =2
200,000& = 6CH 1,200
o HAIYYAIE (HSI| ) AAIEE
4 000 * 174.36RT * 2CH 1,395
oHMAILEIAIL (B ) HEEE2
200,000& = 7CH 1,400
oFA JIAANE(ZSAANE) B2
500,000& = 13| 500
SENFIIANL BY 28
1,500& * 5,300KW * 13| 7,950
SHA NES HAS2R
200 = 37,704m * 23| 15,082
oH A ROUINAHHERE BAI5
20,000,000& * 14 20,000
OfIe =4l 3,900
oXMI| JtA HIIW=E & 3,900,000 * 14 3,900
oLl =l 1,000
olBSAl HYUDRX 22=
100,000& * 104 = 13| 1,000
OZ &l 5,110
o |BSA ZAld] 7,000& » 29 * 365 5,110
S229H| 1,295,474 1,245,474 50,000
OZ2Z22=2YHA 725,170
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D EIENE= A A
DEANY AL (LMD /L)
B Ar2Ze - =29 (98
CRN BB SR(B) - MM - B 0l &t e DS
oEAMN HIIZ 30,000,000& * 122l 360,000
CHA MEtEEE
1,100& = 2,500m" = 123l 33,000
oAb | LEH(OLA)  13,000,0008 * 123 156,000
oYM 800,000 = 12/ 800
cHEBINMNERES 3,000,000 * 23 6,000
o= SHI(AS . AMES . AHEdH)
110,000& = 577A 63,470
oot 4 ZX2lbl 1,100,000& = 89A 97,900
cuUSRYUFES 4,000,000& * 23l 8,000
OAl2 ZHdl=Xldl 570,304
o FH A== X 1,000& * 37,704m’ 37,704
oEMN HEANEE RXES
4,000& = 5,300KW 21,200
oA AYANEE RAEF
5,000,000 * 23 10,000
oA B (AL H=) RIS
4,500,000& * 22 9,000
ozl KN BY
2,000,000& * 123 24,000
oYstaete Y 450,000& * 123 5,400
o EMCCTVS A 2= 5,000,000& = 14 5,000
CHA WELS W2 U RNBL(FLE
&0, 22E4) 5,000,000& * 14! 5,000
oFHAMN BIFHSFANE RXNE=(ZH)
10,000,000& = 14| 10,000
o&H AL IBSEHl |XIE2= 5,000,000& * 14 5,000
o2 A = R X 1,400,000 * 14! 1,400
o5l B2+ 2,000,000 * 14 2,000
SRMWUIIAH - 2 RAUE=s
2,000,000 * 14| 2,000
oHAEY A52eltl 385,000,000% * 14 385,000
o F A IBSAIAE! 22| EH
2,500,000& * 123 30,000
oA 2SS RANES
80,000& * 355 = 23l 5,600
oEA dSI| Fbl 5,000,000 = 2CH 10,000
oA s2J|2 LOO2UIE =29
2,000,000& * 14! 2,000
206 M= dl 110, 152 82,352 27,800
01 M=Hl 110,152 82,352 27,800
OFAMNFXE= H=HI 110,152
oddAEASHM 50008 * 2004 * 204 * 22 4,000
o] F2A 3,500& * 200¢ » 68 4,200
o= & R-22RItA 4,500& = 76kg * 6CH 2,052
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- SA B
DEAMY A2 (UASDDHT /AU HE)
D BARE - 29

S B . (3H) - NEAY - BA2 Al OH &EIE =}
e R B i o ) ° TNs a3 &= 04| AFOH S o
oHSF(LLIA3GS)  4,500& * 100 £ * 6CH 2,700
o 24 = HI (DRYER) 50,000& * 12J4 600
o Sfetol(0leEeZ22) 1,000& * 1,000KG 1,000
o228 EE24L3 1,000& * 1,000KG 1,000
oMAH BExME(22HLUEJ4E)
50,0002 = 58 * 400H 10,000
oS (HEE)A403
1,000& *20Z * 5,00000 * 10/100 10,000
oOtHD| (HES220E)
20,0002 * 208 * 12501 = 20/100 10,000
SHIME(HEY REE)
100,000& * 1003 10,000
SAALE(RTI| LEEAR)
50,000& =108 * 305 15,000
SIIHEH 2. FelA 200,000& » 3& 600
oEad BN 4,000& = 1,500 ¢ 6,000
cHMELUZR HE=ZHZCCTV B3
1,500,000& * 108 15,000
oSYI(THREE ) 108
1,800,000& = 105 18,000
401 AIEHIZ 2 288,000 65,000 223,000
01 Al&HI 288,000 65,000 223,000
O A A2 50,000,000& * 14 50,000
OFAL S4%H CCTV =&Y WAl
27,000,000& * 14 27,000
OFANLHLEX (22, XIotEd2)
15,000,000 * 14 15,000
OEAMN L=EE2IAIAE WK
10,000,000& = 24| 20,000
OFE A H2E S&H W
10,000,000& = 24| 20,000
O&AN &&7] 1887 2 WAl
30,000,000& * 14 30,000
OFA =8 Z WA 2,000,000& * 5CH 10,000
OFAL L&D 2tbt= 25,000,000& * 2CH 50,000
OFEAN HHEE S0 &E x|
2,000,000 = 10CH 20,000
O&AN ==22¢stE 8K Wil
400,000 * 4000 £ 16,000
OFE A UHa2a SSHEI AT A
20,000,000& * 14 20,000
OFE AN S22 J1H4 HLAE 4
10,000,000& = 14 10,000
405 KtatFE SHI 60,000 40,000 20,000
01 A& ESSHSHI 60,000 40,000 20,000

_36_




SERE IR SAEHD
I FAY HUSY(YBBBHT /LB T)
ol BARE - 29 (el &2
- _ _ Muo
AR .2 (FH) - NRAY - BAES Ofl AF o4 il b o B2
OARa F)I o 2229
60,000,000& *» 14 60,000
EAMAIE SZEH 32,000 42,000 A 10,000
206 M=l 12,000 12,000 0
01 M=H| 12,000 12,000 0
OMZHl 12,000
SHA X HE ANTY
4,000,000& = 14 4,000
oHAMEE HIEZFY 4,000,000& = 14l 4,000
SEA EH(Z) Y 4,000,008 * 14 4,000
401 Al&HIL 204 20,000 30,000 A 10,000
01 Al&HI 20,000 30,000 A 10,000
OAl&HI S b 20,000
SABA JI24 MEEY HEAL
10,000,0008 * 14} 10,000
SAEA Jt2% WAL
10,000,000& * 1A 10,000
A2l =X 293 6,000 3,000 3,000
202 O4Hl 6,000 3,000 3,000
01 =Wl 6,000 3,000 3,000
ool 6,000
o AtZte] =& 6,000,000& * 14l 6,000
AL UK ES 238 HE=X24 250,000 0 250,000
401 Al&HI YL SO 250,000 0 250,000
01 Al&H| 250,000 0 250,000
OUIIdsE "ZER0"SH HHl =
100,000,0002 * 141 100,000
OBMAUEZSZRXAL
150,000,000& * 1A 150,000
HE2FZHI (3 AH ) (IIEH/IIE 47,842,625 49,985,428 A2,142,803
IHA2AH(BZ) 47,807,645 49,950,960 AN2,143,315
SSAAAHHI K& 47,807,645 49,950,960 A2,143,315
101 el ] 45,616,865 47,701,020 A2,084,155
01 E= 43,704,892 45,859,874 N2,154,982
Oo=s 23,657,495
o23(212) 75,303,002 * 1% 75,303
=32 (¢E) 72,236,000& * 1 72,236
=4z (9 8) 66,082,000& * 4H 264,328
o=bg 2,961,300& » 52% » 128 1,847,852
SU= 2,485,400& » 222H * 12& 6,621,106
o7s 1,990,300& » 2359 * 12& 5,612,646
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A1) (O1EH/DIE)
)

CEE L O(S) - HRAY - BAS

22

O

O

O

o8g 1,330,900& * 179% » 123
°95
oEHA
=] 2,328,000& * 1& = 12&
= 2,250,500 * 1& = 123
= 1,330,900 + 1& « 128
SRS
= 2,961,300& * 159 « 128
a= 2,555,600& » 50 » 128
= 2,132,700& * 569 » 12
= 1,583,300& = 46F » 12&
- 102 1,191,400& * 23" » 129
o 1%
o2t 4,021,200 * 198 « 128
& LA 2,329,900& » 6H * 123
PN 2,227, 7008 ~ 1& = 128
o403
ocda=sxdg 23,245,628,000& * 1/12
T2
=J|Z22!
7,4573 « 988 » 10AI2+ » 123
oSE2ZR
=& 7,4573 » 586 » 25Al2t » 123
ML - SBHS

7,4573 * 4028 » 15A12 » 12&

coRIZRAg 19,888% * 2% * 3652
cEYIRY 56, 1758 + 39 * 1002
Hoag
oltE4+Y
CHHRX 40,0002 * 994 « 0.9 * 128
SIS
20,0002 * 994% * 2.0 + 122
SSUEET RS
S EStD 51,990 * 994Y * 0.3 « 43
nsstn
419,090 * 994 * 0.2 * 43l
oHI4YIIMZ 100,008 * 994 * 128
cHeBReLY
23,657,495,0009! * 4.8% * 35/100
oDYTRALL 30,0008 + 209 * 128
cfEIRLY
RIES 50,0008 * 152 * 128
= 40,0008 * 239 * 128

—_

2,858,774
1,289,218

70,913
27,936
27,006
15,971

4,702,378

533,034

,533,360
,433,175

873,982
328,827
216,008
48,255
167,753
26,733

,937,136
,937,136
,968,234

884,102

,850,530
,310,941

539,589
14,519
219,083

,924,689

906,528
429,408

477,120
395,275
62,014

333,261

,192,800

397,446
7,200
20,040
9,000
11,040
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HY2IZHI(AAHD)(I1EHIIE)
IA2HHI(ZZ) (98
A EB - ER(EN) - NRAY - B S 0f et o e DS
oSxiZ2esd 5,400
G (2aeH) 30,0008 * 15& * 128 5,400
OS24 527,664
SRRt 68,280
528014 50,000& * 10& = 12& 6,000
6~728 30,0003 = 123% = 12& 44,280
8= 0l ot 20,000& » 75 * 12& 18,000
oJlgdfsd s 19,200
- JIAH 30,000& * 20 ~ 128 7,200
AHAJIA 20,000& * 50& = 12& 12,000
oY EsY 80,000& » 7&H » 123 6,720
oflg=std e+ 1,320
SO GER 30,0008 * 28 « 128 720
MOt E R 15,0008 » 28 » 123 360
AE= 2clA 10,000& » 2&H » 12& 240
ocMSAEN & JUIER =¥

40,000& = 279 « 128 12,960
olMAMHFREE 6,000
3= 0l & 50,000& = 10& = 12 6,000
SR 20,000& » 4% » 123 960
cHIAHRE 30,000& » 247F » 123 88,920
oZHS2R+E 70,0008 * 287 * 128 241,080
oA 5,904
65014t 40,000 » 4F 128 1,920
= 38,000& » 5& » 12& 2,280
= 36,000& » 3% » 123 1,296
- 952 34,0008 = 1 = 128 408
o8 Itt=a 58,680
ZYHEHE 240,000& = 178 128 48,960
&3 2 270,000 * 3% = 12& 9,720
oAMB=SXF R+ 30,0008 ~ 498 » 128 17,640
OZu e+ 1,070,625
og gy 1,228,6008 = 10& » 603 737,160
oJlsH 1,111,5509 = 53 * 60 333,465
(OFSE.y=gal] 130,000& = 994 = 12& 1,550,640
Ous=E x| 130,000& = 992& = 12& 1,547,520
OZESItHl  23,245,628,000& » 1/12 « 120% 2,324,563

OJHAXI 28I
23,245,628,000& = 0.167/12 = 12& 3,882,020

OHItE a4l
23,657,495,000& * 1/12 = 1/30 = 20 1,314,306

02 JIetx 2= 1,911,973 1,841,146 70,827

OFFES 1,692,204
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A1) (O1EH/DIE)
)

CEB . C(BH) - MBAY - B O &b o e
oJllz2 2,112,900 = 35Y * 12& 887,418
oldz=2s¢ 887,418,000& * 0.9/12 66,557
cIIE Y 33,600
- BH S A+ 40,000 * 359 * 1.0 » 12& 16,800
- 22IE 0 20,0008 * 3B5H * 2.0 » 12& 16,800
SPNIER-1s[E=g=y 13,919
- 58t 51,990& * 358 * 0.3 * 43| 2,184
DESHW 419,090 * 35Y x 0.2 * 43| 11,735
odIALYIIAZ 100,000& = 359 = 12& 42,000
od=sAt ¢ 2,400
& 40,000& = 5% = 128 2,400
o Al2tel &g
7,4573 » 359 x 35A|2F * 123] 109,618
o222 RY 19,8883 *» 43 * 3652 29,037
opYIRLY 56,1752 * 58 » 832 23,313
o=2| M| 193,742
A ZAH| 130,000 * 35 = 12& 54,600
wWEEIH| 120,000& » 354 = 12& 50,400
YE S|
887,418,000& * 1/12 * 120% 88,742
© 810} &t
887,418,000& = 1/12 = 1/30 * 20 49,301
oI H T2 bl
887,418,000 = 0.167/12 = 12& 148,199
o X R AH| 65, 100
CHol& =l 50,000& * 35Y x 12& 21,000
ANSE XY 105,000 * 35 * 123 44,100
o II| = H] 400,000& * 359 * 23] 28,000
OH & 219,769
SR r= 169,979
;> =SER = 53,696,000 * 14 53,696
- H2A 02 43,884,000& * 14 43,884
- H2A 22 38,501,000& * 1 38,501
- HEA Of=2 33,898,000& * 1H 33,898
cItEx4 3,840
B[ ==PN] 40,0003 * 49 = 1.0 » 12& 1,920
- 20 20,000& * 44 x 2.0 » 12& 1,920
o XtHSHIBEX4E 7,538
==3=1am) 51,990& * 43 x 43| 832
1SSt 419,090& * 44 = 43| 6,706
o A2t Z2R2E
7,4573 * 4Y x 35A12F « 128 12,528
o ZJMFAH| 130,000 * 4% = 12& 6,240
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o 2641 (3113 (D1 E/21E)
bl (Z2)
M-l (3IH) - H2AY - BES Aro e
o 0102 AtH|
169,979,000€ = 1/12 » 1/30 = 20 9,444
ofelg =t 50,000& * 4% = 123 2,400
oA g SR 7,800
CHLA LZ 250,000& * 19 * 12& 3,000
CHLA CE 155,000& = 1 » 12& 1,860
- HE 2tg 140,000& = 1€ » 12& 1,680
HLEE Ot= 105,000& * 1% » 12& 1,260
204 MR AH| 2,190,780
01 Mg PR 120,960
OA & 650,000& * 19 * 12& 7,800
O=RANE 600,000& * 19 * 12& 7,200
O=&(43) 350,000 = 4% » 12& 16,800
Ob= 88,200
oal Wt A 100,000& = 38Y » 12& 45,600
c5.H.3% 42,600
52 (01 2&) 150,000& * 219 » 12& 37,800
= (RSHE) 50,000& * 8Y * 12& 4,800
Oulbl==U& 80,000& * 1% = 123 960
HZEXH 1,634,460
OAN & 650,000& * 19 * 12& 7,800
ORAME 500,000& * 19 * 12& 6,000
o= &(4=2) 400,000 * 49 * 12& 19,200
Ob= 250,000& * 529 = 12& 156,000
O= 155,000& * 2229 » 12& 412,920
Or= 140,000& * 2359 » 12& 394,800
0895 105,000& = 278% » 12& 350,280
oda 250,000& * 19 * 12& 3,000
OH A 155,000& = 6% » 12& 11,160
OXIZ A 155,000& * 1% » 12& 1,860
OJls6a 155,000& * 159 » 12& 27,900
OJls7= 140,000& * 509% » 12& 84,000
OJls8-9=2 105,000& = 102% » 123 128,520
OJ1s10=2 95,0003 = 23H * 123 26,220
Og &6 155,000& = 1 » 12& 1,860
Og&7= 140,000& * 1% » 12& 1,680
EH8= 105,000& * 1% = 12& 1,260
SHYLLHHSH| 435,360
OZMELBL2RA (520108t
80,000& * 798 * 12& 6,720
ONREE3R& 72,000
o A2 (53018) 100,0009 * 369 * 12&€ 43,200
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Az WHK SR SA s
HE: HHE2AZH (S HD)(IIEHDIIE)
olEIH(BZ) (9 E2
AR .82 (FH) - MIEAIY - HA2 Off AFOH &EIE Ho=2t
== ° T R B i o ) ° . = * dos =5 O:H{ﬂ,% Lsa
og.H.5(630l0t)
100,000& * 24% » 12& 28,800
Ol At B2 (53 016t)
150,000 = 6% » 12& 10,800
OE=xgdg=s2& 100,000& « 14 128 1,200
OZRALHS YT
60,0008 * 224 128 1,440
ouolgsH (28 L AMPA630I0H)
50,000& * 5729 = 12& 343,200
29l 4,680 4,740 AB0
ol 2| 4,680 4,740 A60
203 2REZY| 4,680 4,740 260
VETNEEEEEST 4,680 4,740 A60
ORN2ELRFA 390,000& = 12& 4,680
Jl22Z 4l 30,300 29,728 572
Jl2Z | 30,300 29,728 572
201 LBt A Y| 20,700 15,160 5,540
01 AtE222|H] 20,700 15,160 5,540
oggtag| 20,700
cHIANRES FY 200,000& * 12& 2,400
oHMEIY ARE 7Y 100,008 * 128 1,200
=J|E =2t 7,100,000& * 14 7,100
oz Al 10,000,000& * 14 10,000
202 O4Hl 9,600 14,568 A4,968
01 =LA bI 9,600 14,568 A4,968
O Jl2gedutl 9,600,000& * 14 9,600
S (A (LB /LB T) 882,750 907,500 A24,750
SN 882,750 907,500 A24,750
ANEAL &= 882,750 907,500 A24,750
311 Xt 301 Ataket 57,750 82,500 A 24,750
06 JIEFX 30l AtH&HE 57,750 82,500 A24,750
OANEAL &5 X2 OIXH('99¢)
8,250,000& = 14 8,250
OAIEA &= Xt =2 0IXH(20014)
49,500,000 * 14 49,500
601 XL ZAAZae 825,000 825,000 0
06 JIEfS UYL SAS&E 825,000 825,000 0
OAFEAL &lF xtd=2 |3('994)
275,000,000& * 14 275,000
OAEAL &5 xtd2 |A3(20014)
550,000,000& = 14 550,000
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|
BMUNSHY AASH (LN DY /L)
=235t o2Yst EEREE)
- _ _ Muo
SN - EHH - SRA(SAH) - MM - BES Off &F K Ofl At ot HusZ
' 2,797,204 2,246,072 551,132
2 81,430
= 23,380
Al 2,602,304
SHUH CIYUSHUBTIYT /L) 2,767,704 2,213,832 553,872
2 81,430
= 23,380
Al 2,662,894
23 ogYst 780,791 754,022 26,769
= 7,000
Al 773,791
AYLESNE 2 42,991 51,500 8,509
= 7,000
Al 35,991
101 124l 35,991 39,260 £3,269
= 7,000
Al 28,991
04 JIAHIERNS2S 35,991 39,260 £3,269
ONEIB23 NS JI2HI2ER 35,991
Pl 41,8002 * 38 * 2302 28,842
< 7,000
Al 21,842
S 41,8002 * 3% * 462 5,769
oo R AY 41,8009 * 3% * 112 1,380
201 L2 7,000 12,240 75,240
01 AtR:2lt] 7,000 12,240 A5,240
Oger+gH| 7,000
oYPSDE WWILH 7,000,008 * 14 7,000
28 FEH AU 3,800 4,300 AB00
201 Lsr2 | 1,800 2,300 AB00
01 AtR22lt] 1,800 2,300 A500
SIEER-=1 1,000
cZ2Y DT DT Y|
1,000,0008 * 14 1,000
osg+g 800
oZRAYDBS AAYE SKEH <
20,0002 * 402 K| 800
303 Z&3 2,000 2,000 0
01 Z&3 2,000 2,000 0
OZ2 IBSALXUS AL
2,000,002 * 1Al 2,000
HY I SHSAY 614,900 603, 122 11,778
201 L2 84,000 63,000 21,000
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A= HETAR SN HESAD
HE: MUNYHE AYUSH(LUDTDHET/LUHT)
23 A3

o Y

- Tl

Al . 9L XzH . ClO| (5 HEAS . HAH2 Al OH dEE Hl D=2+
02 2223H| 84,000 63,000 21,000
OAl 4 & Hl = X8I 84,000
ocHZFHE A Sl
7,000,000 » 123 84,000
405 Kot S| 530,900 540,122 NQ,222
01 AHAEESHSHI 530,900 540,122 ANQ,222
OdTHEEE AFHTLY  1,480,000& = 200CH 296,000
OLEEZFH ¢ 1,400,000& = 5CH 7,000
OZEu=sd FRH 2L
1,480,000& = 30CH 44,400
OsdsRMEE BFH 3,000,000& = 2CH 6,000
OstHs d=g*R 82 2UH
500,000 * 21CH 10,500
Oxely+a¢ 1,100,000& = 50CH 55,000
OsdsRMEE =gy 3,000,000& = 2CH 6,000
OL==AIYe WA 400,000& * 15CH 6,000
O2EZERN 7 100,000,000& * 14 100,000
HE9s 23 110,000 90,000 20,000
405 Kot S| 110,000 90,000 20,000
01 &L 2EFHSHI 110,000 90,000 20,000
OAMOIHESE 2 er2t/ Zl e
110,000,000& * 14 110,000
A3 A2 2FE | 9,100 5,100 4,000
202 44| 7,600 3,600 4,000
01 =LA b 7,600 3,600 4,000
OZE3F& bl 7,600,000& = 14! 7,600
203 R F&d| 1,500 1,500 0
03 AIMFAZRFEH| 1,500 1,500 0
OFEStAIMFA 1,500,000& = 14 1,500
Nemes =2 176,654 142,985 33,669
= 13,200
& 16,380
Al 147,074
d2302 2EXN& 45,850 47,650 A 1,800
201 L3y 40,850 42,650 A 1,800
01 AbR2t2lH| 3,000 4,000 A 1,000
ozd=¢ 3,000
cFE0ISFY FEstu=E ZAR
20,0003 * 2A12F = 52 * 33| » 54 3,000
02 5234l 31,850 32,650 AB800
Oo=232z= ¥ HA 10,800




4T WENAR SN EREND
A MURNYHEY AU (LSS /LB E)

D ANEEES F=A (ctel &
A 2N M- HA(SAH) - MRAIY - BES O AFH dd T Hos
== ° T (=) iy o L) = oS =5 &= 04| AFOH U=sa

cZEsie S2HH e
90,000& * 53l& * 12& 5,400
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